NPN SILICON TRANSISTOR

H C 143T DTC143T,2S5C3901,KSR1209
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BVcBo — 50 v Ic=10p A 1e=0
BVceo — 50 v Ic=0.1mA 18=0
BVEBo — 5 V Ie=50p A 1c=0
IcBo — 0.1 M A | Ves=40V, I1e=0
1EBO — 0.1 M A | Ve=5V, I1c=0
HFe 100 250 600 Vce=5V, Ic=1mA
VCE(sat) — 0.1 0.3 v Ic=10mA, 18=0.5mA
Vi(off) 0.4 0.55 0.8 v Vee=5V, 1c=0.1mA
Vi(on) 0.6 1.0 2.0 v Vce=0.2V, Ic=10mA
R1 3.3 4.7 6.1 kQ
fr 250 MHz | Vce=10V, Ic=5mA
Cob 3.7 pF | Ves=10V, f=1MHz




NPN SILICON TRANSISTOR

H C 143T DTC143T,2S5C3901,KSR1209

=]

DC CURREMT GAIM : hre

=
B
R
E
B Basa
 : Callector
E : Emilter
1 2. —
1k | Foy i T
o  Wee=bW = | lc/la=20
500 5 &im
i
e -
00 ST 4 Em Ta=100°C4] "
100 Ta=100°C T = 257 il
25C 3 it
50 4073 = §im n 1]
= p— —
20 E m
=
10 2 iim
: 3
5
e M
e
2 O
et
1 A m
10 2p 5p Im 2Zm Sm 10m 2m 30m 1Em o 0l @ 50w im Zm Sm 10m 20m 50m {00m

COLLECTOR CURREMNT : Iz (A} COLLECTOR CURRENT @ Iz (A)



